gr 8 u6 eq day 2 graph equations (Monday).notebook October 14, 2022

1) Find the missing value for the ordered pairs ofly = 2x -7

( show work)
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A number is divisible by 9 if the sum of the digits is a multiple of 9.

N 126 = 14244 =9
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Extra Practice 6

Lesson 6.6: Creating a Table of Values

1. Copy and complete each table of values
a)y=3x+7 b)y=2x-2
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2. Copy and complete each table of values
a)y=-x+2 b)y=-4x-5 gy=5x+8
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4. The cost of parking at the airport is $15 the first day. plus $6 for each additional day. An
equation for this relation is
C =15 + 6a, where q represents the number of additional days, and C represents the total cost
of of the parking.

a) Use the equation to create a table of values.
b) Hank parked for 14 additional days. Hot®@lich did Hank spend on parking?
) Sentor spent $207 on parking. How many rides additional days did he park?
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Ex 1) a) Create a table of values
,Graph 'y = 3x b) Graph the relation

=<2 Jx=-) x=9 : :
’:3, 2,:3,‘3” Describe the relations
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Ex) 2 a) Create a table of values
Graph y = -2x+4 b) Graph the relation
XY . .
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Discrete vs. Continuous

For word problems

Discrete means you do not connect the dots (since you can not have
part of your x variable)

ex) Graphing how many people attended a dance. (Can't have half a
person)

Continuous means you connect the dots (since you can #i@ghave part
of your x variable)

ex 1) Graphing how many hours. (Can have half a hour)

Temperature of Heated Water

100
80
60

40

ex 2)
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Dependent: Water temperature (0C)

0 1 2 3 4 5
Independent: Heating time (min)
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1. Describe the fatterns on the
graph. As wumber of. Stices:
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2. What is the cost of one slice
of pizza? $3

3. What is the relationship

between the number of slices

and the cost?
= 3dn
4. Make a table of values from
the graph.

5. If 7 slices of pizza are
purchased, what is the cost?
C=3n
= 3C7)
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